
题号：1(qid:47)	 	
题目：According	 to	 a	 survey	 of	 graduating	medical	 students	 conducted	 by	 the	 Association	 of	
American	Medical	Colleges,	minority	graduates	are	nearly	four	times	more	likely	than	are	other	
graduates	in	planning	to	practice	in	socioeconomically	deprived	areas.	 	
选项：	 	
A.minority	graduates	are	nearly	 four	 times	more	 likely	 than	are	other	graduates	 in	planning	 to	
practice	 	
B.minority	graduates	are	nearly	four	times	more	likely	than	other	graduates	who	plan	on	practicing	 	
C.minority	graduates	are	nearly	four	times	as	likely	as	other	graduates	to	plan	on	practicing	 	
D.it	is	nearly	four	times	more	likely	that	minority	graduates	rather	than	other	graduates	will	plan	
to	practice	 	
E.it	is	nearly	four	times	as	likely	for	minority	graduates	than	other	graduates	to	plan	to	practice	 	
	
	
题号：2(qid:48)	 	
题目：Charles	Lindbergh,	for	his	attempt	at	a	solo	transatlantic	flight,	was	very	reluctant	to	have	
any	extra	weight	on	his	plane,	he	therefore	refused	to	carry	even	a	pound	of	mail,	despite	being	
offered	$1,000	to	do	so.	 	
选项：	 	
A.Charles	Lindbergh,	for	his	attempt	at	a	solo	transatlantic	flight,	was	very	reluctant	to	have	any	
extra	weight	on	his	plane,	he	therefore	 	
B.When	Charles	Lindbergh	was	attempting	his	solo	transatlantic	flight,	being	very	reluctant	to	have	
any	extra	weight	on	his	plane,	he	 	
C.Since	he	was	very	reluctant	to	carry	any	extra	weight	on	his	plane	when	he	was	attempting	his	
solo	transatlantic	flight,	so	Charles	Lindbergh	 	
D.Being	 very	 reluctant	 to	 carry	 any	 extra	 weight	 on	 his	 plane	 when	 he	 attempted	 his	 solo	
transatlantic	flight	was	the	reason	that	Charles	Lindbergh	 	
E.Very	reluctant	to	have	any	extra	weight	on	his	plane	when	he	attempted	his	solo	transatlantic	
flight,	Charles	Lindbergh	 	
	
	
题号：3(qid:49)	 	
题目：For	protection	from	the	summer	sun,	the	Mojave	lived	in	open-sided,	flat-topped	dwellings	
known	as	shades,	each	a	roof	of	poles	and	arrowweed	supported	by	posts	set	in	a	rectangle.	 	
选项：	 	
A.each	a	roof	of	poles	and	arrowweed	 	
B.each	a	roof	of	poles	and	arrowweed	that	are	being	 	
C.with	each	being	a	roof	of	poles	and	arrowweed	 	
D.with	roofs	of	poles	and	arrowweed	to	be	 	
E.with	roofs	of	poles	and	arrowweed	that	are	 	
	
	
	
	



文章：		 		 Prior	 to	1965	geologists	 assumed	 that	 the	 two	giant	 rock	plates	meeting	at	 the	 San	
Andreas	Fault	generate	heat	through	friction	as	they	grind	past	each	other,	but	 in	1965	Henyey	
found	that	temperatures	in	drill	holes	near	the	fault	were	not	as	elevated	as	had	been	expected.	
Some	geologists	wondered	whether	the	absence	of	friction-generated	heat	could	be	explained	by	
the	 kinds	 of	 rock	 composing	 the	 fault.	 Geologists'	 pre-1965	 assumptions	 concerning	 heat	
generated	 in	 the	 fault	 were	 based	 on	 calculations	 about	 common	 varieties	 of	 rocks,	 such	 as	
limestone	and	granite;	but	"weaker"	materials,	such	as	clays,had	already	been	identified	in	samples	
retrieved	from	the	fault	zone.	Under	normal	conditions,	rocks	composed	of	clay	produce	far	less	
friction	than	do	other	rock	types.	
		 		 In	1992	Byerlee	 tested	whether	 these	materials	would	produce	 friction	10	 to	15	kilometers	
below	the	Earth's	surface.	Byerlee	found	that	when	clay	samples	were	subjected	to	the	thousands	
of	atmospheres	of	pressure	they	would	encounter	deep	inside	the	Earth,	they	produced	as	much	
friction	as	was	produced	by	other	rock	types.	The	harder	rocks	push	against	each	other,	the	hotter	
they	 become;	 in	 other	 words,	 pressure	 itself,	 not	 only	 the	 rocks'	 properties,	 affects	 frictional	
heating.	 Geologists	 therefore	 wondered	 whether	 the	 friction	 between	 the	 plates	 was	 being	
reduced	by	pockets	of	pressurized	water	within	the	fault	that	push	the	plates	away	from	each	other.	 	
	
题号：4(qid:50)	 	
题目：	
The	passage	suggests	which	of	the	following	regarding	Henyey's	findings	about	temperature	in	the	
San	Andreas	Fault?	
选项：	 	
A.Scientists	have	yet	to	formulate	a	definitive	explanation	for	Henyey's	findings.	 	
B.Recent	research	suggests	that	Henyey's	explanation	for	the	findings	should	be	modified.	 	
C.Henyey's	findings	had	to	be	recalculated	in	light	of	Byerlee's	1992	experiment.	 	
D.Henyey's	findings	provided	support	for	an	assumption	long	held	by	geologists.	 	
E.Scientists	 have	 been	 unable	 to	 duplicate	 Henyey's	 findings	 using	 more	 recent	 experimental	
methods.	 	
	
	
题号：5(qid:51)	 	
题目：The	passage	is	primarily	concerned	with	 	
选项：	 	
A.evaluating	a	method	used	to	test	a	particular	scientific	hypothesis	 	
B.discussing	explanations	for	an	unexpected	scientific	finding	 	
C.examining	the	assumptions	underlying	a	particular	experiment	 	
D.questioning	the	validity	of	a	scientific	finding	 	
E.presenting	evidence	to	support	a	recent	scientific	hypothesis	 	
	
	
	
	
	
	



题号：6(qid:52)	 	
题目：The	passage	mostly	agree	that	Heney's	findings	about	temperature	in	the	San	Andreas	Fault	
made	the	greatest	contribution	in	that	they	 	
选项：	 	
A.revealed	an	error	in	previous	measurements	of	temperature	in	the	San	Andreas	Fault	zone	 	
B.indicated	the	types	of	clay	present	in	the	rocks	that	form	the	San	Andreas	Fault	 	
C.established	the	superiority	of	a	particular	technique	for	evaluating	data	concerning	friction	in	the	
San	Andreas	Fault	 	
D.suggested	that	geologists	had	inaccurately	assumed	that	giant	rock	plates	that	meet	at	the	San	
Andreas	Fault	generate	heat	through	friction	 	
E.confirmed	geologists'	assumptions	about	the	amount	of	friction	generated	by	common	varieties	
of	rocks,	such	as	limestone	and	granite	 	
	
题号：7(qid:53)	 	
题目：	
For	similar	cars	and	drivers,	automobile	 insurance	for	collision	damage	has	always	cost	more	 in	
Greatport	than	in	Fairmont.		 Police	studies,	however,	show	that	cars	owned	by	Greatport	residents	
are,	 on	 average,	 slightly	 less	 likely	 to	 be	 involved	 in	 a	 collision	 than	 cars	 in	 Fairmont.		 Clearly,	
therefore,	 insurance	 companies	 are	 making	 a	 greater	 profit	 on	 collision-damage	 insurance	 in	
Greatport	than	in	Fairmont.	
Which	of	the	following	is	an	assumption	on	which	the	argument	depends?	 	
选项：	 	
A.Repairing	typical	collision	damage	does	not	cost	more	in	Greatport	than	in	Fairmont.	 	
B.There	are	no	more	motorists	in	Greatport	than	in	Fairmont.	 	
C.Greatport	residents	who	have	been	in	a	collision	are	more	likely	to	report	it	to	their	insurance	
company	than	Fairmont	residents	are.	 	
D.Fairmont	and	Greatport	are	the	cities	with	the	highest	collision-damage	insurance	rates.	 	
E.The	 insurance	 companies	were	 already	 aware	 of	 the	 difference	 in	 the	 likelihood	 of	 collisions	
before	the	publication	of	the	police	reports.	 	
	
题号：8(qid:54)	 	
题目：Sulfur	dioxide,	a	major	contributor	to	acid	rain,	is	an	especially	serious	pollutant	because	it	
diminishes	the	respiratory	system's	ability	to	deal	with	all	other	pollutants.	 	
选项：	 	
A.an	especially	serious	pollutant	because	it	diminishes	the	respiratory	system's	ability	to	deal	 	
B.an	 especially	 serious	 pollutant	 because	 of	 diminishing	 the	 respiratory	 system's	 capability	 of	
dealing	 	
C.an	especially	serious	pollutant	because	it	diminishes	the	capability	of	the	respiratory	system	in	
dealing	 	
D.a	specially	serious	pollutant	because	it	diminishes	the	capability	of	the	respiratory	system	to	deal	 	
E.a	specially	serious	pollutant	because	of	diminishing	the	respiratory	system's	ability	to	deal	 	
	
	
	



题号：9(qid:55)	 	
题目：	
Although	exposure	to	asbestos	is	the	primary	cause	of	mesothelioma,	a	slow-developing	cancer,	
researchers	believe	that	 infection	by	 the	SV40	virus	 is	a	contributing	cause,	since	 in	 the	United	
States	60	percent	of	tissue	samples	from	mesotheliomas,	but	none	from	healthy	tissue,	contain	
SV40.		 SV40	is	a	monkey	virus;	however,	in	1960	some	polio	vaccine	was	contaminated	with	the	
virus.		 Researchers	 hypothesize	 that	 this	 vaccine	 was	 the	 source	 of	 the	 virus	 found	 in	
mesotheliomas	decades	later.	
Which	of	the	following,	if	true,	most	strongly	supports	the	researchers'	hypothesis?	
选项：	 	
A.SV40	is	widely	used	as	a	research	tool	in	cancer	laboratories.	 	
B.Changes	in	the	technique	of	manufacturing	the	vaccine	now	prevent	contamination	with	SV40.	 	
C.Recently	discovered	samples	of	the	vaccine	dating	from	1960	still	show	traces	of	the	virus.	 	
D.In	a	small	percentage	of	cases	of	mesothelioma,	there	is	no	history	of	exposure	to	asbestos.	 	
E.In	Finland,	where	the	polio	vaccine	was	never	contaminated,	samples	from	mesotheliomas	do	
not	contain	SV40.	 	
文章：		 		 One	proposal	for	preserving	rain	forests	is	to	promote	the	adoption	of	new	agricultural	
technologies,	 such	 as	 improved	 plant	 varieties	 and	 use	 of	 chemical	 herbicides,	 which	 would	
increase	productivity	and	slow	deforestation	by	reducing	demand	for	new	cropland.	Studies	have	
shown	that	farmers	in	developing	countries	who	have	achieved	certain	levels	of	education,	wealth,	
and	 security	of	 land	 tenure	are	more	 likely	 to	adopt	 such	 technologies.	But	 these	 studies	have	
focused	on	villages	with	limited	land	that	are	tied	to	a	market	economy	rather	than	on	the	relatively	
isolated,	selfsufficient	communities	with	ample	land	characteristic	of	rain-forest	regions.	A	recent	
study	of	 the	Tawahka	people	of	 the	Honduran	rain	 forest	 found	that	 farmers	with	some	formal	
education	 were	 more	 likely	 to	 adopt	 improved	 plant	 varieties	 but	 less	 likely	 to	 use	 chemical	
herbicides	and	that	those	who	spoke	Spanish	(the	language	of	the	market	economy)	were	more	
likely	to	adopt	both	technologies.	Nonland	wealth	was	also	associated	with	more	adoption	of	both	
technologies,	 but	 availability	 of	 uncultivated	 land	 reduced	 the	 incentive	 to	 employ	 the	
productivity-enhancing	technologies.	Researchers	also	measured	land-tenure	security:	in	Tawahka	
society,	 kinship	 ties	 are	 a	 more	 important	 indicator	 of	 this	 than	 are	 legal	 property	 rights,	 so	
researchers	measured	 it	 by	 a	 household's	 duration	 of	 residence	 in	 its	 village.	 They	 found	 that	
longer	residence	correlated	with	more	adoption	of	improved	plant	varieties	but	less	adoption	of	
chemical	herbicides.	 	
题号：10(qid:56)	 	
题目：	
The	primary	purpose	of	the	passage	is	to	
选项：	 	
A.evaluate	the	likelihood	that	a	particular	proposal,	if	implemented,	would	ultimately	succeed	in	
achieving	its	intended	result	 	
B.question	the	assumption	that	certain	technological	innovations	are	the	most	effective	means	of	
realizing	a	particular	environmental	objective	 	
C.discuss	 the	 progress	 of	 efforts	 to	 encourage	 a	 particular	 traditional	 society	 to	 adopt	 certain	
modern	agricultural	methods	 	
D.present	 the	 results	 of	 new	 research	 suggesting	 that	 previous	 findings	 concerning	 one	 set	 of	



conditions	may	not	be	generalizable	to	another	set	of	conditions	 	
E.weigh	the	relative	importance	of	three	factors	in	determining	whether	a	particular	strategy	will	
be	successful	 	
	
题号：11(qid:57)	 	
题目：According	 to	 the	 passage,	 the	 proposal	 mentioned	 in	 the	 highlighted	 text	 is	 aimed	 at	
preserving	rain	forests	by	encouraging	farmers	in	rain-forest	regions	to	do	each	of	the	following	
EXCEPT	 	
选项：	 	
A.adopt	new	agricultural	technologies	 	
B.grow	improved	plant	varieties	 	
C.decrease	their	use	of	chemical	herbicides	 	
D.increase	their	productivity	 	
E.reduce	their	need	to	clear	new	land	for	cultivation	 	
	
	
题号：12(qid:58)	 	
题目：The	passage	suggests	that	in	the	study	mentioned	in	the	highlighted	text	the	method	for	
gathering	 information	 about	 security	 of	 land	 tenure	 reflects	 which	 of	 the	 following	 pairs	 of	
assumptions	about	Tawahka	society?	 	
选项：	 	
A.The	security	of	a	household's	land	tenure	depends	on	the	strength	of	that	household's	kinship	
ties,	and	the	duration	of	a	household's	residence	in	its	village	is	an	indication	of	the	strength	of	
that	household's	kinship	ties.	 	
B.The	ample	availability	of	land	makes	security	of	land	tenure	unimportant,	and	the	lack	of	a	need	
for	secure	land	tenure	has	made	the	concept	of	legal	property	rights	unnecessary.	 	
C.The	 strength	 of	 a	 household's	 kinship	 ties	 is	 a	 more	 reliable	 indicator	 of	 that	 household's	
receptivity	to	new	agricultural	technologies	than	is	its	quantity	of	nonland	wealth,	and	the	duration	
of	a	household's	residence	in	its	village	is	a	more	reliable	indicator	of	that	household's	security	of	
land	tenure	than	is	the	strength	of	its	kinship	ties.	 	
D.Security	of	land	tenure	based	on	kinship	ties	tends	to	make	farmers	more	receptive	to	the	use	of	
improved	plant	 varieties,	 and	 security	 of	 land	 tenure	based	on	 long	duration	of	 residence	 in	 a	
village	tends	to	make	farmers	more	receptive	to	the	use	of	chemical	herbicides.	 	
E.A	household	is	more	likely	to	be	receptive	to	the	concept	of	land	tenure	based	on	legal	property	
rights	 if	 it	 has	 easy	 access	 to	 uncultivated	 land,	 and	 a	 household	 is	more	 likely	 to	 uphold	 the	
tradition	of	land	tenure	based	on	kinship	ties	if	it	possesses	a	significant	degree	of	nonland	wealth.	 	
	
	
题号：13(qid:59)	 	
题目：The	findings	of	the	study	mentioned	in	the	highlighted	text,	if	valid	for	rain-forest	regions	in	
general,		 suggest	that	which	of	the	following	is	an	obstacle	most	likely	to	be	faced	by	those	wishing	
to	promote	rain-forest	preservation	by	implementing	the	proposal	mentioned	in	the	highlighted	
text?	 	
选项：	 	



A.Lack	 of	 legal	 property	 rights	 tends	 to	 discourage	 local	 farmers	 from	 investing	 the	 time	 and	
resources	required	to	successfully	implement	new	agricultural	technologies.	 	
B.The	ability	to	evaluate	the	wider	economic	ramifications	of	adopting	new	aricultural	technologies	
depends	on	a	relatively	high	level	of	formal	education.	 	
C.Isolation	 from	 the	market	economy	 tends	 to	 restrict	 local	 farmers'	 access	 to	new	agricultural	
technologies	that	could	help	them	to	increase	their	productivity.	 	
D.Ready	availability	of	uncultivated	land	tends	to	decrease	local	farmers'	incentive	to	adopt	new	
agricultural	technologies	that	would	reduce	their	need	to	clear	new	land	for	cultivation.	 	
E.Traditions	of	self-sufficiency	and	reliance	on	kinship	ties	tend	to	diminish	local	farmers'	receptivity	
to	new	agricultural	technologies	introduced	by	people	from	outside	the	local	community.	 	
	
题号：14(qid:60)	 	
题目：	
Yeasts	capable	of	 leavening	bread	are	widespread,	and	 in	 the	many	centuries	during	which	the	
ancient	Egyptians	made	only	unleavened	bread,	such	yeasts	must	frequently	have	been	mixed	into	
bread	doughs	accidentally.		 The	Egyptians,	however,	did	not	discover	leavened	bread	until	about	
3000	B.C.		 That	 discovery	 roughly	 coincided	with	 the	 introduction	of	 a	wheat	 variety	 that	was	
preferable	to	previous	varieties	because	its	edible	kernel	could	be	removed	from	the	husk	without	
first	toasting	the	grain.	
		
Which	of	the	following,	if	true,	provides	the	strongest	evidence	that	the	two	developments	were	
causally	related?	 	
选项：	 	
A.Even	 after	 the	 ancient	 Egyptians	 discovered	 leavened	 bread	 and	 the	 techniques	 for	 reliably	
producing	it	were	well	known,	unleavened	bread	continued	to	be	widely	consumed.	 	
B.Only	when	 the	Egyptians	 stopped	 the	practice	of	 toasting	 grain	were	 their	 stone-lined	grain-
toasting	pits	available	for	baking	bread.	 	
C.Heating	a	wheat	kernel	destroys	its	gluten,	a	protein	that	must	be	present	in	order	for	yeast	to	
leaven	bread	dough.	 	
D.The	new	variety	of	wheat,	which	had	a	more	delicate	 flavor	because	 it	was	not	 toasted,	was	
reserved	for	the	consumption	of	high	officials	when	it	first	began	to	be	grown.	 	
E.Because	 the	husk	of	 the	new	variety	of	wheat	was	more	easily	 removed,	 flour	made	 from	 it	
required	less	effort	to	produce.	 	
	
题号：15(qid:61)	 	
题目：	
Which	of	the	following	most	logically	completes	the	argument	below?	
		
Although	the	number	of	large	artificial	satellites	orbiting	the	Earth	is	small	compared	to	the	number	
of	 small	 pieces	 of	 debris	 in	 orbit,	 the	 large	 satellites	 interfere	 more	 seriously	 with	 telescope	
observations	 because	 of	 the	 strong	 reflections	 they	 produce.		 Because	 many	 of	 those	 large	
satellites	have	ceased	to	function,	the	proposal	has	recently	been	made	to	eliminate	interference	
from	nonfunctioning	satellites	by	exploding	them	in	space.		 This	proposal,	however,	is	ill	conceived,	
since	_______.	 	



选项：	 	
A.many	nonfunctioning	satellites	remain	in	orbit	for	years	 	
B.for	 satellites	 that	 have	 ceased	 to	 function,	 repairing	 them	while	 they	 are	 in	 orbit	 would	 be	
prohibitively	expensive	 	
C.there	are	no	known	previous	instances	of	satellites'	having	been	exploded	on	purpose	 	
D.the	only	way	to	make	telescope	observations	without	any	interference	from	debris	in	orbit	is	to	
use	telescopes	launched	into	extremely	high	orbits	around	the	Earth	 	
E.a	 greatly	 increased	 number	 of	 small	 particles	 in	 Earth's	 orbit	 would	 result	 in	 a	 blanket	 of	
reflections	that	would	make	certain	valuable	telescope	observations	impossible	 	
	
题号：16(qid:62)	 	
题目：While	digging	in	the	Egyptian	desert,	huge	fossil	bones	have	been	found	by	paleontologists,	
which	appears	to	have	been	the	second	most	massive	dinosaur	that	ever	lived.	 	
选项：	 	
A.huge	fossil	bones	have	been	found	by	paleontologists,	which	appears	to	have	been	 	
B.huge	fossil	bones	have	been	found	by	paleontologists,	which	appear	to	be	from	 	
C.it	appears	that	paleontologists	have	found	huge	fossil	bones	that	are	from	 	
D.paleontologists	have	found	huge	fossil	bones	from	what	appears	to	be	 	
E.paleontologists	have	found	huge	fossil	bones,	which	are	from	what	appear	to	be	 	
	
题号：17(qid:63)	 	
题目：	
Editorial:	
An	arrest	made	by	a	Midville	police	officer	is	provisional	until	the	officer	has	taken	the	suspect	to	
the	police	station	and	the	watch	commander	has	officially	approved	the	arrest.		 Such	approval	is	
denied	 if	 the	 commander	 judges	 that	 the	 evidence	 on	which	 the	 provisional	 arrest	 is	 based	 is	
insufficient.		 A	government	efficiency	expert	has	 found	 that	almost	all	provisional	arrests	meet	
standards	 for	 adequacy	 of	 evidence	 that	 watch	 commanders	 enforce.		 The	 expert	 therefore	
recommends	 that	 the	 watch	 commander's	 approval	 should	 no	 longer	 be	 required	 since	 the	
officers'	 time	 spent	 obtaining	 approval	 is	 largely	 wasted.		 This	 recommendation	 should	 be	
rejected	 as	 dangerous,	 however,	 since	 there	 is	 no	 assurance	 that	 the	 watch	 commanders'	
standards	will	continue	to	be	observed	once	approval	is	no	longer	required.	
In	the	editorial,	the	two	portions	in	boldface	play	which	of	the	following	roles?	
选项：	 	
A.The	 first	 is	 a	 recommendation	 made	 by	 the	 editorial;	 the	 second	 acknowledges	 a	 potential	
objection	against	that	recommendation.	 	
B.The	first	is	a	proposal	against	which	the	editorial	is	directed;	the	second	is	a	judgment	reached	
by	the	editorial	concerning	that	proposal.	 	
C.The	 first	 provides	 evidence	 in	 support	 of	 a	 recommendation	 that	 the	 editorial	 supports;	 the	
second	is	the	conclusion	reached	by	the	editorial.	 	
D.The	first	is	a	position	that	the	editorial	challenges;	the	second	is	a	judgment	that	was	made	in	
support	of	that	challenged	position.	 	
E.The	first	is	a	recommendation	that	the	editorial	questions;	the	second	provides	evidence	against	
that	recommendation.	 	



题号：18(qid:64)	 	
题目：	
Analyzing	campaign	expenditures,	the	media	has	had	as	a	focus	the	high	costs	and	low	ethics	of	
campaign	finance,	but	they	have	generally	overlooked	the	cost	of	actually	administering	elections,	
which	includes	facilities,	transport,	printing,	staffing,	and	technology.	
选项：	 	
A.Analyzing	campaign	expenditures,	the	media	has	had	as	a	focus	 	
B.Analyses	of	campaign	expenditures	by	the	media	has	been	focus	on	 	
C.In	analyzing	campaign	expenditures,	the	media	have	focused	on	 	
D.Media	analyses	of	campaign	expenditures	have	had	as	a	focus	 	
E.In	their	analysis	of	campaign	expenditures,	the	media	has	been	focusing	on	 	
	
题号：19(qid:65)	 	
题目：Which	of	the	following	most	logically	completes	the	passage?	
A	certain	tropical	island	received	food	donations	in	the	form	of	powdered	milk	for	distribution	to	
its	 poorest	 residents,	 who	 were	 thought	 to	 be	 malnourished.		 Subsequently,	 the	 rate	 of	 liver	
cancers	 among	 those	 islanders	 increased	 sharply.		 The	 donated	 milk	 was	 probably	 to	 blame:	
recent	laboratory	research	on	rats	has	shown	that	rats	briefly	exposed	to	the	substances	aflatoxin	
tend	 to	 develop	 liver	 cancer	 when	 fed	 casein,	 a	 milk	 protein.		 This	 result	 is	 relevant	 because	
_______.	 	
选项：	
A.in	the	tropics,	peanuts,	a	staple	of	these	island	residents,	support	a	mold	growth	that	produces	
aflatoxin	 	
B.the	 liver	 is	more	 sensitive	 to	 carcinogens,	of	which	aflatoxin	may	be	one,	 than	most	other	bodily	
organs	 	
C.casein	is	not	the	only	protein	contained	in	milk	 	
D.powdered	milk	is	the	most	appropriate	form	in	which	to	send	milk	to	a	tropical	destination	 	
E.the	people	who	were	given	the	donated	milk	had	been	screened	for	their	ability	to	digest	milk	 	
	
题号：20(qid:66)	 	
题目：In	the	mid-1970's,	since	birds	were	overcome	by	pollution,	and	routinely	falling	from	the	
sky	above	Los	Angeles	freeways,	this	prompted	officials	in	California	to	devise	a	plan	that	reduced	
automobile	emissions.	 	
选项：	 	
A.since	birds	were	overcome	by	pollution,	and	routinely	 falling	 from	the	sky	above	Los	Angeles	
freeways,	this	prompted	officials	in	California	to	devise	a	plan	that	reduced	 	
B.since	birds	that	had	been	overcome	by	pollution	were	routinely	falling	from	the	sky	above	Los	
Angeles	freeways,	it	prompted	officials	in	California	to	devise	a	plan	that	would	reduce	 	
C.birds	had	been	overcome	by	pollution	and	routinely	fell	from	the	sky	above	Los	Angeles	freeways,	
prompting	officials	in	California	to	devise	a	plan	that	reduced	 	
D.birds	overcome	by	pollution	routinely	fell	from	the	sky	above	Los	Angeles	freeways,	prompting	
officials	in	California	to	devise	a	plan	to	reduce	 	
E.birds	overcome	by	pollution	and	routinely	falling	from	the	sky	above	Los	Angeles	freeways	were	
prompting	officials	in	California	to	devise	a	plan	to	reduce	 	



题号：21(qid:67)	 	
题目：	
Despite	the	growing	number	of	people	who	purchase	plane	tickets	online,	airline	executives	are	
convinced	that,	just	as	one-third	of	bank	customers	still	prefer	human	tellers	to	automatic	teller	
machines,	many	travelers	will	still	use	travel	agents.	
选项：	 	
A.growing	number	of	people	who	purchase	plane	tickets	online,	airline	executives	are	convinced	
that,	just	as	one-third	of	bank	customers	still	prefer	human	tellers	to	automatic	teller	machines,	
many	travelers	will	 	
B.growing	number	of	people	who	purchase	plane	tickets	online,	airline	executives	are	convinced,	
just	as	one-third	of	bank	customers	still	prefer	human	tellers	to	automatic	teller	machines,	that	
many	travelers	would	 	
C.growing	number	of	people	purchasing	plane	tickets	online,	airline	executives	are	convinced,	just	
as	one-third	of	bank	customers	still	prefer	human	tellers	as	compared	to	automatic	teller	machines,	
many	travelers	will	 	
D.fact	that	the	number	of	people	purchasing	plane	tickets	online	is	growing,	airline	executives	are	
convinced,	just	as	one-third	of	bank	customers	still	prefer	human	tellers	as	compared	to	automatic	
teller	machines,	that	many	travelers	would	 	
E.fact	that	the	number	of	people	who	purchase	plane	tickets	online	are	growing,	airline	executives	
are	convinced	that,	just	as	one-third	of	bank	customers	still	prefer	human	tellers	compared	with	
automatic	teller	machines,	many	travelers	would	 	
	
题号：22(qid:1653)	 	
题目：	
In	the	early	part	of	the	twentieth	century,	many	vacationers	found	that	driving	automobiles	and	
sleeping	in	tents	allowed	them	to	enjoy	nature	close	at	hand	and	tour	at	their	own	pace,	with	none	
of	the	restrictions	of	passenger	trains	and	railroad	timetables	or	with	the	formalities,	expenses,	
and	impersonality	of	hotels.	
选项：	 	
A.with	none	of	the	restrictions	of	passenger	trains	and	railroad	timetables	or	with	the	 	
B.with	none	of	the	restrictions	of	passenger	trains,	railroad	timetables,	nor	 	
C.without	the	restrictions	of	passenger	trains	and	railroad	timetables	nor	 	
D.without	the	restrictions	of	passenger	trains	and	railroad	timetables	or	with	the	 	
E.without	the	restrictions	of	passenger	trains	and	railroad	timetables	or	the	 	
	
题号：23(qid:1661)	 	
题目：	
In	his	experiments	with	gravity,	Isaac	Newton	showed	how	the	motion	of	each	planet	in	the	solar	
system	results	from	the	combined	gravitational	pull	of	the	Sun	and	of	all	the	other	planets,	each	
contributing	according	to	their	mass	and	distance	from	the	others.	
选项：	 	
A.of	all	the	other	planets,	each	contributing	according	to	their	 	
B.of	all	the	other	planets,	with	each	of	them	contributing	according	to	their	 	
C.all	the	other	planets,	each	of	which	contributing	according	to	its	 	



D.all	the	other	planets,	each	contributing	according	to	its	 	
E.all	the	other	planets,	each	of	which	contribute	according	to	their	 	
	
题号：24(qid:1403)	 	
题目：	
Because	of	wireless	service	costs	plummeting	in	the	last	year,	and	as	mobile	
phones	are	increasingly	common,	many	people	now	using	their	mobile	phones	
to	make	calls	across	a	wide	region	at	night	and	on	weekends,	when	numerous	
wireless	companies	provide	unlimited	airtime	for	a	relatively	small	monthly	fee.	
选项：	 	
A.Because	 of	 wireless	 service	 costs	 plummeting	 in	 the	 last	 year,	 and	 as	 mobile	 phones	 are	
increasingly	common,	many	people.	 	
B.As	 the	 cost	 of	 wireless	 service	 plummeted	 in	 the	 last	 year	 and	 as	 mobile	 phones	 became	
increasingly	common,	many	people.	 	
C.In	the	last	year,	with	the	cost	of	wireless	service	plummeting,	and	mobile	phones	have	become	
increasingly	common,	there	are	many	people.	 	
D.With	 the	 cost	 of	 wireless	 service	 plummeting	 in	 the	 last	 year	 and	mobile	 phones	 becoming	
increasingly	common,	many	people	are	 	
E.While	 the	 cost	 of	 wireless	 service	 has	 plummeted	 in	 the	 last	 year	 and	 mobile	 phones	 are	
increasingly	common,		 many	people	are.	 	
	
文章：In	Winters	v.	United	States	 (1908),	 the	Supreme	Court	held	 that	 the	 right	 to	use	waters	
flowing	 through	or	adjacent	 to	 the	Fort	Berthold	 Indian	Reservation	was	 reserved	 to	American	
Indians	by	the	treaty	establishing	the	reservation.	Although	this	treaty	did	not	mention	water	rights,	
the	Court	ruled	that	the	federal	government,	when	it	created	thereservation,	intended	to	deal	fairly	
with	American	Indians	by	preserving	for	them	the	waters	without	which	their	lands	would	have	
been	 useless.	 Later	 decisions,	 citing	Winters,	 established	 that	 courts	 can	 find	 federal	 rights	 to	
reserve	 water	 for	 particular	 purposes	 if	 (1)	 the	 land	 in	 question	 lies	 within	 an	 enclave	 under	
exclusive	federal	jurisdiction,	(2)	the	land	has	been	formally	withdrawn	from	federal	public	lands	
—	i.e.,	withdrawn	from	the	stock	of	federal	lands	available	for	private	use	under	federal	land	use	
laws	—	and	set	aside	or	reserved,	and	(3)	the	circumstances	reveal	the	government	intended	to	
reserve	water	as	well	as	land	when	establishing	the	reservation.	
	
		 		 Some	American	Indian	tribes	have	also	established	water	rights	through	the	courts	based	on	
their	 traditional	 diversion	 and	 use	 of	 certain	 waters	 prior	 to	 the	 United	 States'	 acquisition	 of	
sovereignty.	For	example,	the	Rio	Grande	pueblos	already	existed	when	the	United	States	acquired	
sovereignty	over	New	Mexico	in	1848.	Although	they	at	that	time	became	part	of	the	United	States,	
the	pueblo	lands	never	formally	constituted	a	part	of	federal	public	lands;	in	any	event,	no	treaty,	
statute,	or	executive	order	has	ever	designated	or	withdrawn	the	pueblos	 from	public	 lands	as	
American	 Indian	 reservations.	 This	 fact,	 however,	 has	 not	 barred	 application	 of	 the	 Winters	
doctrine.	What	constitutes	an	American	Indian	reservation	is	a	question	of	practice,	not	of	legal	
definition,	and	the	pueblos	have	always	been	treated	as	reservations	by	the	United	States.	This	
pragmatic	 approach	 is	 buttressed	 by	 Arizona	 v.	 California	 (1963),	 wherein	 the	 Supreme	 Court	
indicated	that	the	manner	in	which	any	type	of	federal	reservation	is	created	does	not	affect	the	



application	to	it	of	the	Winters	doctrine.	Therefore,	the	reserved	water	rights	of	Pueblo	Indians	
have	 priority	 over	 other	 citizens'	 water	 rights	 as	 of	 1848,	 the	 year	 in	 which	 pueblos	must	 be	
considered	to	have	become	reservations.	 	
题号：25(qid:71)	 	
题目：	
The	author	cites	the	fact	that	the	Rio	Grande	pueblos	were	never	formally	withdrawn	from	public	
lands	primarily	in	order	to	do	which	of	the	following?	
选项：	 	
A.Suggest	why	it	might	have	been	argued	that	the	Winters	doctrine	ought	not	to	apply	to	pueblo	
lands	 	
B.Imply	that	the	United	States	never	really	acquired	sovereignty	over	pueblo	lands	 	
C.Argue	that	the	pueblo	lands	ought	still	to	be	considered	part	of	federal	public	lands	 	
D.Support	the	argument	that	the	water	rights	of	citizens	other	than	American	Indians	are	limited	
by	the	Winters	doctrine	 	
E.Suggest	that	federal	courts	cannot	claim	jurisdiction	over	cases	disputing	the	traditional	diversion	
and	use	of	water	by	Pueblo	Indians	 	
	
题号：26(qid:72)	 	
题目：	
The	passage	suggests	that,	if	the	criteria	discussed	in	the	highlighted	text	were	the	only	criteria	for	
establishing	a	reservation's	water	rights,	which	of	the	following	would	be	true?	
选项：	 	
A.The	 water	 rights	 of	 the	 inhabitants	 of	 the	 Fort	 Berthold	 Indian	 Reservation	 would	 not	 take	
precedence	over	those	of	other	citizens.	 	
B.Reservations	established	before	1848	would	be	judged	to	have	no	water	rights.	 	
C.There	would	be	no	legal	basis	for	the	water	rights	of	the	Rio	Grande	pueblos.	 	
D.Reservations	other	than	American	Indian	reservations	could	not	be	created	with	reserved	water	
rights.	 	
E.Treaties	 establishing	 reservations	 would	 have	 to	 mention	 water	 rights	 explicitly	 in	 order	 to	
reserve	water	for	a	particular	purpose.	 	
	
题号：27(qid:73)	 	
题目：	
According	 to	 the	 passage,	 which	 of	 the	 following	 was	 true	 of	 the	 treaty	 establishing	 the	 Fort	
Berthold	Indian	Reservation?	
选项：	 	
A.It	was	challenged	in	the	Supreme	Court	a	number	of	times.	 	
B.It	was	rescinded	by	the	federal	government,	an	action	that	gave	rise	to	the	Winters	case.	 	
C.It	cited	American	Indians'	traditional	use	of	the	land's	resources.	 	
D.It	failed	to	mention	water	rights	to	be	enjoyed	by	the	reservation's	inhabitants.	 	
E.It	was	modified	by	the	Supreme	Court	in	Arizona	v.	California.	 	
	
题号：28(qid:74)	 	
题目：The	primary	purpose	of	the	passage	is	to	 	



选项：	 	
A.trace	the	development	of	laws	establishing	American	Indian	reservations	 	
B.explain	the	legal	bases	for	the	water	rights	of	American	Indian	tribes	 	
C.question	the	legal	criteria	often	used	to	determine	the	water	rights	of	American	Indian	tribes	 	
D.discuss	evidence	establishing	the	earliest	date	at	which	the	federal	government	recognized	the	
water	rights	of	American	Indians	 	
E.point	out	a	legal	distinction	between	different	types	of	American	Indian	reservations	 	
	
题号：29(qid:75)	 	
题目：	
Smithtown	 University's	 fund-raisers	 succeeded	 in	 getting	 donations	 from	 80	 percent	 of	 the	
potential	donors	they	contacted.		 This	success	rate,	exceptionally	high	for	university	fund-raisers,	
does	not	indicate	that	they	were	doing	a	good	job.		 On	the	contrary,	since	the	people	most	likely	
to	 donate	 are	 those	who	 have	 donated	 in	 the	 past,	 good	 fund-raisers	 constantly	 try	 less-likely	
prospects	 in	 an	 effort	 to	 expand	 the	 donor	 base.		 The	 high	 success	 rate	 shows	 insufficient	
canvassing	effort.	
	
Which	of	the	following,	if	true,	provides	more	support	for	the	argument?	 	
选项：	 	
A.Smithtown	University's	fund-raisers	were	successful	in	their	contacts	with	potential	donors	who	
had	 never	 given	 before	 about	 as	 frequently	 as	were	 fund-raisers	 for	 other	 universities	 in	 their	
contacts	with	such	people.	 	
B.This	year	the	average	size	of	the	donations	to	Smithtown	University	from	new	donors	when	the	
university's	fund-raisers	had	contacted	was	larger	than	the	average	size	of	donations	from	donors	
who	had	given	to	the	university	before.	 	
C.This	 year	 most	 of	 the	 donations	 that	 came	 to	 Smithtown	 University	 from	 people	 who	 had	
previously	donated	to	it	were	made	without	the	university's	fund-raisers	having	made	any	contact	
with	the	donors.	 	
D.The	majority	of	the	donations	that	fund-raisers	succeeded	in	getting	for	Smithtown	University	
this	year	were	from	donors	who	had	never	given	to	the	university	before.	 	
E.More	than	half	of	the	money	raised	by	Smithtown	University's	fund-raisers	came	from	donors	
who	had	never	previously	donated	to	the	university.	 	
	
题号：30(qid:76)	 	
题目：	
The	quality	of	unrefined	olive	oil	is	not	actually	defined	in	terms	of	acidity,	yet	extensive	tests	have	
shown	 that	 the	 less	 free	 oleic	 acid	 an	 unrefined	 olive	 oil	 contains	 per	 liter,	 the	 higher	 its	
quality.		 The	proportion	of	free	oleic	acid	that	an	olive	oil	contains	is	an	accurate	measure	of	the	
oil's	acidity.	
		
If	the	statements	above	are	all	true,	which	of	the	following	conclusions	is	best	supported	by	them	?	
选项：	 	
A.When	an	olive	oil	is	refined,	the	concentration	of	oleic	acid	in	the	oil	is	reduced.	 	
B.The	quality	of	an	unrefined	olive	oil	can	be	determined	only	by	accurately	measuring	its	acidity.	 	



C.If	an	unrefined	olive	oil	is	intermediate	in	acidity	between	two	other	unrefined	olive	oils,	it	will	
also	be	intermediate	between	them	in	quality.	 	
D.Free	oleic	acid	is	the	only	acid	that	unrefined	olive	oil	contains.	 	
E.People	who	 judge	 the	quality	of	unrefined	olive	oils	actually	 judge	 those	oils	by	 their	acidity,	
which	the	judges	can	taste.	 	
	
题号：31(qid:77)	 	
题目：Leaching,	 the	recovery	of	copper	from	the	drainage	water	of	mines,	as	a	method	of	the	
extraction	of	minerals,	it	was	well	established	as	early	as	the	eighteenth	century,	but	until	about	
25	years	ago	miners	did	not	realize	that	bacteria	take	an	active	part	in	the	process.	 	
选项：	 	
A.as	a	method	of	the	extraction	of	minerals,	it	was	well	established	 	
B.as	a	method	of	the	extraction	of	minerals	well	established	 	
C.was	a	well-established	method	of	mineral	extraction	 	
D.was	a	well-established	method	of	extracting	mineral	that	was	 	
E.had	been	a	method	of	mineral	extraction,	well	established	 	
	
题号：32(qid:78)	 	
题目：Most	of	the	purported	health	benefits	of	tea	comes	from	antioxidants—compounds	also	
found	 in	beta	carotene,	vitamin	E,	and	vitamin	C	that	 inhibit	the	formation	of	plaque	along	the	
body's	blood	vessels.	 	
选项：	 	
A.comes	from	antioxidants—compounds	also	found	in	beta	carotene,	vitamin	E,	and	vitamin	C	that	 	
B.comes	 from	 antioxidants—compounds	 that	 are	 also	 found	 in	 beta	 carotene,	 vitamin	 E,	 and	
vitamin	C,	and	they	 	
C.come	from	antioxidants—compounds	also	found	in	beta	carotene,	vitamin	E,	and	vitamin	C,	and	 	
D.come	 from	 antioxidants—compounds	 that	 are	 also	 found	 in	 beta	 carotene,	 vitamin	 E,	 and	
vitamin	C	and	that	 	
E.come	from	antioxidants—compounds	also	found	in	beta	carotene,	vitamin	E,	and	vitamin	C,	and	
they	 	
	
文章：(This	passage	was	excerpted	from	material	published	in	1993.)	 	
	 	 	 Like	many	other	industries,	the	travel	industry	is	under	increasing	pressure	to	expand	globally	
in	 order	 to	 keep	 pace	 with	 its	 corporate	 customers,	 who	 have	 globalized	 their	 operations	 in	
response	to	market	pressure,	competitor	actions,	and	changing	supplier	relations.	But	it	is	difficult	
for	service	organizations	to	globalize.	Global	expansion	through	acquisition	is	usually	expensive,	
and	expansion	through	internal	growth	is	time-consuming	and	sometimes	impossible	in	markets	
that	are	not	actively	growing.	Some	service	industry	companies,	 in	fact,	regard	these	traditional	
routes	to	global	expansion	as	inappropriate	for	service	industries	because	of	their	special	need	to	
preserve	 local	 responsiveness	 through	 local	 presence	 and	 expertise.	 One	 travel	 agency	 has	
eschewed	the	traditional	route	altogether.	A	survivor	of	the	changes	that	swept	the	travel	industry	
as	a	result	of	the	deregulation	of	the	airlines	in	1978—changes	that	included	dramatic	growth	in	
the	 corporate	 demand	 for	 travel	 services,	 as	well	 as	 extensive	 restructuring	 and	 consolidation	
within	the	travel	industry—	this	agency	adopted	a	unique	structure	for	globalization.	Rather	than	



expand	by	attempting	to	develop	its	own	offices	abroad,	which	would	require	the	development	of	
local	travel	management	expertise	sufficient	to	capture	foreign	markets,	the	company	solved	its	
globalization	dilemma	effectively	by	forging	alliances	with	the	best	foreign	partners	it	could	find.	
The	resulting	cooperative	alliance	of	independent	agencies	now	comprises	32	partners	spanning	
37	countries.	 	
题号：33(qid:79)	 	
题目：The	passage	suggests	that	one	of	the	effects	of	the	deregulation	of	the	airlines	was	 	
选项：	 	
A.a	decline	in	the	services	available	to	noncommercial	travelers	 	
B.a	decrease	in	the	size	of	the	corporate	travel	market	 	
C.a	sharp	increase	in	the	number	of	cooperative	alliances	among	travel	agencies	 	
D.increased	competition	in	a	number	of	different	service	industries	 	
E.the	merging	of	some	companies	within	the	travel	industry	 	
	
题号：34(qid:80)	 	
题目：The	author	discusses	a	particular	travel	agency	in	the	passage	most	likely	in	order	to	 	
选项：	 	
A.provide	evidence	of	the	pressures	on	the	travel	industry	to	globalize	 	
B.demonstrate	the	limitations	of	the	traditional	routes	to	global	expansion	 	
C.illustrate	an	unusual	approach	to	globalizing	a	service	organization	 	
D.highlight	the	difficulties	confronting	travel	agencies	that	attempt	to	globalize	 	
E.underscore	the	differences	between	the	service	industry	and	other	industries	 	
	
题号：35(qid:81)	 	
题目：According	to	the	passage,	which	of	the	following	is	true	of	the	traditional	routes	to	global	
expansion?	 	
选项：	 	
A.They	have	been	supplanted	in	most	service	industries	by	alternative	routes.	 	
B.They	are	less	attractive	to	travel	agencies	since	deregulation	of	the	airlines.	 	
C.They	may	represent	the	most	cost-effective	means	for	a	travel	agency	to	globalize.	 	
D.They	may	be	unsuitable	for	service	agencies	that	are	attempting	to	globalize.	 	
E.They	are	most	likely	to	succeed	in	markets	that	are	not	actively	growing.	 	
	
题号：36(qid:1676)	 	
题目：	
Gas	hydrates,	 chemical	 compounds	of	water	and	natural	gas,	are	 increasingly	being	studied	 for	
their	potential	to	be	huge	reservoirs	of	energy,	possibly	causing	sea	floor	instability,	and	significant	
contributors	to	global	warming.	
选项：	 	
A.to	be	huge	reservoirs	of	energy,	possibly	causing	sea	floor	instability,	and	 	
B.to	be	huge	reservoirs	of	energy,	possibly	causing	sea	floor	instability,	and	even	as	 	
C.as	huge	reservoirs	of	energy,	possibly	causing	sea	floor	instability,	and	 	
D.as	huge	reservoirs	of	energy,	and	the	possible	cause	of	sea	floor	instability,	 	
E.as	huge	reservoirs	of	energy,	as	possible	causes	of	sea	floor	instability,	and	even	as	 	



答案： 

1	 2	 3	 4	 5	 6	
C	 E	 A	 A	 B	 D	
7	 8	 9	 10	 11	 12	
A	 A	 E	 D	 C	 A	
13	 14	 15	 16	 17	 18	
D	 C	 E	 D	 B	 C	
19	 20	 21	 22	 23	 24	
A	 D	 A	 E	 D	 D	
25	 26	 27	 28	 29	 30	
A	 C	 D	 B	 A	 C	
31	 32	 33	 34	 35	 36	
C	 D	 E	 C	 D	 A	

	


